M3H - Solving Equations with Rational Exponents and Radicals

An “inverse operation” is an operation to \ T\d O another operation to isolate a variable. Why do

we want to “isolate” a variable?

What is the inverse of:
taking a square root? SO\UQ 4 IVlg
a cube root? CUDI f\ﬁ

Raising to the 2/3 power?

faising o e /2 pover

To solve Radical Equations:
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Solving Rational Exponent Equations
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Solve the Following Equations:
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Some of these problems have NO"SOLUTION!

Some have EXTRANEOUS SOLUTIONS.
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Extraneous solutions are:

SO...ALWAYS CHECK YOUR ANSWERS!
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Solve the following equations:
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